PreCalculus

Linearize This!

In this investigation we will explore the methods that underlie the regressions on the calculator. The computer will “undo” a relationship and then get the Linear that is associated with the pattern. Then the linear will br “redone” to get the True function.

For Example, If we look at the function f(x) = 0.6 x2, we see a quadratic relationship. To “undo” this, you would take the square root of Y. This produces a linear function of the form y’ = 0.776 x. Square this function and you get the original function. 
We will start with a set of data, look for the pattern, and then try to “undo” that relation to get a linear. We will then fit the linear, and then “redo” the relationship to get the True function.

Document the following for the three data sets DAY sends you:

- The lists you start with (just a screenshot of 7 pairs).

- The Plot and Window of these data.

- A statement of the pattern that needs to be undone and how you would undo it.

- The new data that would produce the linear.

- A plot with Window of this linear.

- The Linear function.

- The manipulation of this function to redo the pattern that you undid.

David A. Young
page 1
04/06/2006

